Wednesday 8th July
Timetables

Examples for reading timetables:
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It shows us the different train departure and arrival times. 
The train from Halifax to York has 3 changes.
The earliest departure is Leeds to Manchester at 14:25.
The Halifax to York train arrives at 15:35.

Example 2
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Watch the loom video for an explanation:
https://www.loom.com/share/a11256b6b5ea4e6084770530f8c50869

You could use a number line to find the difference between the start and end times of the journey, but I think you will be able to do it mentally. 
Train A from 08:35 until 09:35 takes 1 hour
Train B from 09:05 until 10:15 takes 1 hour and 10 mins
Train C from 09:35 until 10:40 takes 1 hour and 5 mins
Train D from 10:25 until 11:10 takes 55 minutes. 
Therefore train D takes the shortest amount of time. 

Train C take 10 minutes to get from Capenhurst to Ellesmere port. There are 60 seconds in 1 minute therefore it takes 60 x 10 = 600sec.
All of the other trains take 5 minutes to get to Ellesmere port which is 300sec. Therefore train C takes 300 more seconds to get there than the other trains. 

[image: ]

Your turn – have a got at these fluency questions:
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Challenge:
[bookmark: _GoBack][image: ]
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5a. Each train takes the same amount of
time to travel between each station.

5b. Each train takes the same amount of

time to travel between each station.

London Euston | 18:35 19:25 | 19:50 Harrogate | 10:05 | 12:15 | 13:25
Watford 18:50 | 19:15 | Knaresborough | 10:25 13:45 | 14:55
Milton Keynes 19:35 | 20:00 | Farnham 10:35 13:55
Coventry 19:45 20:35 | 21:00 Copgrove 13:00 15:20
Birmingham | 20:00 | 20:25 | 21115 Ripon 11:00 | 13:10 | 14:20
Calculate the missing times. Calculate the missing times.
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Read the information in the timetable.

Origin Destination Depart Arrive Changes
Leeds Manchester 14:25 15:40 2
Halifax York 14:40 15:35 3
Manchester Halifax 15:05 15:55 0
York Leeds 15:35 16:05 1

What is this timetable showing?

Which line has the most changes?

What is the earliest departure on the timetable?

What is the earliest arrival on the timetable?
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Look at the train timetable below.

[ [tanA[wans wanclanD]
[ Chester | 08:35 | 0705 | 0735 | 105 |
Capenhurst | o845 | 0915 | 0v.45 | 1025 |
Ellesmere por | 08:50 | 09:20 | 0%:55 | 100 |

| Hooton [ 09:00 | 09:30 | 10:05 | 10:40 |
| Bromborough | 09:10 | 09:40 | 10:15 | 10:50 |
| Liverpool [ 09:35 [ 1015 | 10:40 | 11:10 |

Which train takes the shortest amount of time to get from Chester to
Liverpool?

How many more seconds does it take to get from Capenhurst to
Ellesmere Port on Train C compared to the other trains?
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Look at the train timetable below.

[ TtamA[Tans [vanc[wano] A= lh

" Chester - | 0835 | 0705 | 0935 | 105 |

Capenhunt - | 0845 | 09:15 | ovias:| 102s | R= lhtom
Elesmere For | 08:50 | 0920 | 09:55.| 1030 | =

" tooton | 0700 | 0930 | 1005 | 1040 | C— |
Sromborough | 0710 | 0:40 | 1015 | 100 | = lh bm
" tverpool ] 0735 | 10:15 | 1040 ] 11210 ]

D=55 vin
Which train takes the shortest amount of time to get from Chester to - n

Liverpool?

How many more seconds does it take to get from Capenhurst to
Ellesmere Port on Train C compared to the other trains?

¢ 10 mn= 600 Sec
Cvin =300 &¢
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1a. Look at the bus timetable below.

1b. Look at the bus timetable below.

How long does it take Bus C to get from
Cromwell Street to Manchester?

Which three buses take exactly the same

amount of time to travel from Prestwich to
Manchester?

w

BusA | BusB | BusC | BusD BusA | BusB | BusC | BusD

Prestwich 9:10 10:10 | 11:00 | 12:00 Beeston 7:00 8:00 9:00 10:00

Carr Clough | 9:20 | 10:20 | 11:10 | 12:10 Infirmary St. 7:20 8:20 9:20 | 10:10

Kersal 9:30 | 10:30 | 11:20 | 12:20 Headingley 7:40 8:40 9:40 | 10:30

Cromwell St. | 9:40 | 10:40 | 11:30 | 12:30 Holt Park 7:50 9:50 9:50 | 10:40
Manchester | 9:50 | 10:50 | 11:50 | 12:40

How long does it take for Bus A to get
from Headingley to Holt Park?

Which bus takes the shortest amount of
time to travel from Beeston to Holt Park?

w
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4a. Look at the bus timetable below.

4b. Look at the bus timetable below.

BusA [ BusB [ BusC | BusD BusA | BusB | BusC | BusD

Chester 06:45 | 07:15 | 07:45 | 08:15 Huddersfield | 06:00 | 06:50 | 08:10 | 09:15

Capenhurst | 06:50 | 07:20 | 07:50 | 08:20 Emley 06:15 | 07:20 | 08:25 | 09:30

Hooton 07:05 | 07:35 | 08:05 | 08:35 Flockton 06:20 | 07:25 | 08:30 | 09:35

Eastham 07:15 | 07:45 | 08:15 | 08:45 Overton 06:25 | 07:30 | 08:35 | 09:40

Bromborough | 07:20 | 07:50 | 08:20 | 08:50 Wakefield 06:45 | 07:40 | 08:55 | 10:00
Liverpool 07:45 | 08:15 | 08:55 | 09:15

Which bus takes the longest amount of
time to get from Chester to Liverpool?

How many seconds does it take to get
from Hooton to Eastham on Bus B?

W

On Bus A, how much longer does it take
to get from Emley to Wakefield than to
get from Huddersfield to Emley?

How many seconds longer does it take to
get from Huddersfield to Wakefield on Bus
B than the other buses?
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